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cfh ldlt @)&@ efb| ( ut] a'waf/ laxfgsf] !@M)) ah] sfo{sf/L clws[t >L p4ak|;fb 

l/hfnsf] cWoIftfdf eQmk'/ gu/kflnsf sfo{ ;+rfng ;ldlt -af]8{ a}7s_ sf]] a}7s egkf j8f g+= !) 

l:yt gof+  ejg Jof;Ldf lgDg pkl:yltdf al; lgDg ljifodf 5nkmn / lg0f{o ul/of] M  

pkl:ylt  

!= sfo{sf/L clws[t  p4ak|;fb l/hfn cWoIf 

cfdlGqtx?M 

!= cWoIf >L uf}td k|;fb nfl;jf sd{rf/L Pzf]l;P;g 

@= cf=O{= /fduf]ljGb >]i7 

#= cf=O{= lbneQm hogf 

$= sf=c= u0f]znfn kmf]h" 

%= lh=c= /]le8 s':df 

^= s=c= k|ef;s'df/ rfln;] 

&= k'=c= e'kfn d"n 

*= O= cf]dxl/ yf 

(= zf=c= clDasf wf}e8]n 

!)= zf=c= /Tgdfof afnf >]i7 

!!= zf=c= lblnks'df/ ;'jfn 

!@= O=xl/axfb'/ ;'jfn 

!#= zf=c= bfdf]b/ ;'jfn 

!$= cfn]k ljgf]b cfuGhf 

!%= k|]=c= sflznfn k|hfklt 
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ljifox? M– 

!=  ========================== af/] . 

 

lg0f{ox? M– 

!=   
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ldlt 2072 a}zfv 12, 13 / 29 ut] cfPsf] ljgfzsf/L e"sDkaf^ eQmk'/ gu/kflnsfsf] ;fdfg 

:^f]/ u/L /fv]sf] nfdf] kf^L elTsPsf] / To;kl% k^s k^s cfPsf] k/fsDkgaf^ ;d]t kf^L 

elTsPsf]n] kf^Ldf :^f]/ u/L /fv]sf] lgDg lnlvt ;fdfgx? x/fPsf], gi^ ePsf] / sfd} gnfUg] 

u/L lju|]sf] egL :^f]/ zfvfaf^ k]z ePsf] l^Kk)fL dfly %nkmn x'+bf pQm ;fdfgx? ;fdfgx? 

ldgfxf u/L lhG;L lstfaaf^ nut s§f ug]{ lg)f{o ul/of] .  

tkl;n 

qm=;+= ;fdfgsf] gfd lh vf g++ kl/df)f     PsfO{  s}lkmot 

1= Knu   64  7  j^f   

2= emf]nf   67  56  j^f   k|lzIffyL{x?af^ k|fKt 

3= aiff{bL    69  4  j^f  

4= %ftf   72  7  j^f  

5= Pk|f]g   74  8  j^f 

6= h'Qf   75  2  j^f  lkogx?sf] %fnfsf] h'Qf 

7= lkmNd /f]n   77  10  j^f 

8= Sof;]^ rSsf  83  9  j^f 
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9= ;fgf] AofqL o"lkP; 84  4  j^f 

10= x]* uf*{   85  8   j^f 

11= 10 cf}+; Unf]a  87  10  hf]/ 

12= l:slké /f]k   92  5  j^f 

13= jNj 250 jf^  99  10   j^f 

14= jNj 150 jf^  100  9  j^f 

15= jnfi^ 150 jf^ 101 14   j^f 

16= xf]N*/ 250 jf^ 102  1   j^f 

17= xf]N*/ 125 jf^ 103  32   j^f 

18= O{Ug]^/   104  6   j^f 

19= Sofkfl;^/  105  2   j^f 

20= Sokfl;^/ Pkm  106  17   j^f 

21= Pdl;lj l:jr  107  1   j^f 

22= l:jr   108  3   j^f 

23= dfS;   109  1   j^f 

24 ;]nf]^]k   113  3   j^f 

25= Knfli^s se/   114  90   j^f 

26= k]rlsNnf   115  150   j^f 

27= l:^k NofDk  116  2  j^f 

28= em)*f   120  1   j^f 

29= l/elné lro/  1.29  4   j^f 

30 s'zg d]r   1.13  3   j^f 

31 nfO{a|]/L d]r  1.4  2  j^f 

32 sf&sf] Cofs  1.26  2   j^f 
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33 l:^n Cofs  26  7   j^f 

34= sDkf]i^ jLg    4  j^f   x/fPsf] 

35= sDkf]i^ ljg    19   j^f sfd gnfUg] u/L lau|]sf] 

36= Knfli^s aflN^g    25   j^f    

 

 

 

 

 


